DBN

(LARGE, N:48, |X|:160/310, k:2, w*:59/110, d:59/111)

Class Scheme nAbs | Fail |ErroL ACTX |Error| ARAND |Error]|
simple  2048| 0 | 3.090 . | | -0469  [% | 0406 &l
minVar 1 0 4560 BT 1| 1.001 & || 1876 @ |
equalDist 1 | 0| 4355 B 1| 0.79 | 1671

HB equalDist2 1 0| 4671 BT 1| 1.111 @ 1| 1986 W]
equalDist3 1 | 0 | 4813 B 1| 1.254 E:I 2.129 E
equalDist4 1 0 4109 B 1 [ 0.550 o 1.425 &
rand 16 | 0| 2714 B -0.845 [E 0.029 |
simple 16 | 0 [ 3326 B | -0.233 [ 0642 &I
minVar 1 | o] 4209 BT 1| 0.740 2 | 1614 W]
equalDist 1 | o] 4152 B | 0593 E 1468 W]

HRB equaDist2 1 | 0 | 4522 B ]| 0.963 21| 1838 @]
equalDist3 1 0| 4415 B 1| 0.856 2| 1731 @]
equalDistd 1 | 0 | 4851 B || 1.292 B 2166 @ |
rand 256 | 0 | 3.029 I 0530 & 0345
simple 1 0| 4561 BT ]| 1.002 & 1| 1877 @ |
minVar 16 | 0 | 2369 B | 1190 0315 [
equalDist 512 | 0 | 3398 B | | -0.161 i 0713 ]

QB equalDist2 1024 0 | 2379 | 1.180 [ -0.306 [
equalDist3 64 | 0 | 2228 I | 1.331 [ -0.456 &
equalDist4 256 | 0 | 2303 B | 1.256 [ 0381 &
rand 1 o 4322 B 1| 0762 1 | 1.637 %

CTX rand 16 | 0 | 3559 B 1 0.000 ! 0.875

rel 1 [ o[ 4681 B 1| 1.122 W 1997 W

RAND rand 64 | 0| 2685 B | -0.875 [ 0.000




